



HOKKAIDO UNIVERSITY

Title	Associations of daily walking and television viewing time with liver cancer mortality : findings from the Japan Collaborative Cohort Study
Author(s)	Ukawa, Shigekazu; Tamakoshi, Akiko; Wakai, Kenji et al.
Citation	Cancer Causes & Control, 25(7), 787-793 https://doi.org/10.1007/s10552-014-0380-8
Issue Date	2014-07
Doc URL	https://hdl.handle.net/2115/59529
Rights	The final publication is available at link.springer.com
Type	journal article
File Information	Cancer Causes Control_25(7)_787-793.pdf



1 **Associations of daily walking and television viewing time with liver cancer**

2 **mortality: findings from the Japan Collaborative Cohort Study**

3
4 Shigekazu Ukawa^a, Akiko Tamakoshi^{a,*}, Kenji Wakai^b, and Youichi Kurozawa^c for the
5 JACC Study Group

6
7 ^aDepartment of Public Health, Hokkaido University Graduate School of Medicine

8 ^bDepartment of Preventive Medicine, Nagoya University Graduate School of Medicine

9 ^cDepartment of Social Medicine, Division of Health Administration and Promotion,
10 Faculty of Medicine, Tottori University

11
12 The members of the JACC Study Group are provided in the appendix.

13
14 ***Corresponding author.** Akiko Tamakoshi, Department of Public Health, Hokkaido
15 University Graduate School of Medicine, N15 W7, Kita-ku, Sapporo 060-8638, Japan.
16 Tel: +81 11 7065068; Fax: +81 11 7067805; E-mail: tamaa@med.hokudai.ac.jp

1

2 **Running title:** Walking time and liver cancer mortality

3

4 **Keywords:** motor activity, physical activity, walking, sedentary behavior, liver cancer

5

6

Abstract

Background and purpose: Several studies have suggested that daily vigorous physical activity reduces the risk of liver cancer, whereas sedentary behavior increases the risk of several cancers. However, the link between liver cancer and low-intensity physical activity (walking) and sedentary behavior is unclear. Therefore, we explored the links between liver cancer mortality and daily walking time/television (TV) viewing time in Japanese adults aged 40 to 79 years in a large-scale nationwide cohort study.

Methods: We excluded participants with a history of liver disease, cancer, stroke, or myocardial infarction at baseline (1988–1990) and those who died within the first 5 years of follow-up. A total of 69,752 adults (28,642 men and 41,110 women) were enrolled and followed for a median of 19.4 years. The Cox proportional hazards model was used to calculate hazard ratios (HRs) and 95% confidence intervals (CI) for liver cancer mortality adjusted for age, sex, and other possible confounding factors.

Results: During the study period, 267 participants died of liver cancer. The HRs of participants who walked for >0.5 hours/day and watched TV for 2 to 4 hours/day versus <2 hours/day were 0.58 (95% CI, 0.39–0.89) and 0.58 (95% CI, 0.35–0.98),

1 respectively, compared with those who walked for <0.5 hours/day and watched TV for

2 >4 hours/day.

3 Conclusions: Our findings suggest that longer walking times and shorter TV viewing

4 times may reduce the risk of liver cancer.

5

6 **Abbreviations**

7 BMI = body mass index

8 CI = confidence interval

9 HBV = hepatitis B virus

10 HCV = hepatitis C virus

11 HR = hazard ratio

12 ICD = International Classification of Disease

13 JACC Study = Japan Collaborative Cohort Study

14 TV = television

15

1 **Introduction**

2 Liver cancer is the third most common cause of cancer-related death worldwide [1].
3 Several reviews have suggested that hepatitis B virus (HBV) or hepatitis C virus (HCV)
4 infection, cirrhosis, obesity, heavy alcohol intake, and cigarette smoking are associated
5 with increased risks of liver cancer, whereas coffee intake is associated with a decreased
6 risk of liver cancer [2-7]. Chronic HBV and/or HCV infection is the strongest
7 contributor to the development of liver cancer in Japan [8].

8 Two previous reports suggested that daily vigorous physical activity [9,10]
9 and leisure time physical activity [11] reduce the risk of liver cancer. On the other hand,
10 sedentary behavior, including watching television (TV), is reportedly associated with
11 obesity, diabetes, and the risk of several cancers [12,13]. However, the impact of
12 low-intensity physical activities (e.g., walking) and sedentary behavior on liver cancer
13 has not been reported. Therefore, the aim of this study was to determine whether a
14 prolonged daily walking time and TV viewing time is associated with liver cancer
15 mortality in Japanese participants aged 40 to 79 years.

Material and Methods

Study population and data collection

The Japan Collaborative Cohort Study for Evaluation of Cancer Risk (JACC Study) was established in 1988-90 and has been described in detail elsewhere [14]. Briefly, 110,585 (46,395 men and 64,190 women) apparently healthy inhabitants aged 40 to 79 years from 45 areas throughout Japan were enrolled. Participants were mostly recruited at the time of their health check-up using a self-administered questionnaire, and a response rate of 86% to 91% was obtained.

Information on the average daily number of hours spent walking and watching TV and other lifestyle factors was obtained in the baseline questionnaire. Two categories of walking time (≤ 0.5 and > 0.5 hours/day) were created. TV viewing time was categorized into three groups (< 2 , 2 to < 4 , and ≥ 4 hours/day) because the average amount of time Japanese adults spend watching TV has been reported to be about 3 to 4 hours/day [15] and because several previous studies reported associations between TV watching and the incidence of lung cancer [16] and cardiovascular disease [17].

Of the 110,585 original cohort members, 11,093 participants were excluded because they had a medical history of liver disease, cancer, stroke, or myocardial infarction at baseline. An additional 17,782 participants in 5 areas were also excluded because the questionnaire used there did not include items on the average number of daily hours of walking and TV viewing. A further 3,670 participants were excluded because they died within the first 5 years of follow-up. Finally, 8,297 participants with missing data for the average daily hours of walking and/or TV viewing were excluded. Consequently, 69,752 (28,642 men and 41,110 women) participants were analyzed in the present study.

Follow-up

The date and cause of death were confirmed by death certificates and coded according to the 10th revision of the International Classification of Disease (ICD-10). The primary outcome for the present study was death of primary liver cancer (C22). Participants who moved away from the study area during the study period were treated as censored cases. The overall study design was approved by the Ethical Board of Nagoya University

School of Medicine.

Statistical analysis

Age- and sex-adjusted and multivariate hazard ratios (HR) and confidence intervals (CI) for liver cancer mortality were calculated using a Cox proportional hazards model. Demographic information such as age (as a continuous variable), sex, smoking status (never, former, current smokers or unknown), alcohol consumption (never, former, current alcohol drinker of 0.1–22.9, 23.0–45.9, or ≥ 46 g ethanol/day or unknown), daily consumption of coffee (0, <1 , or ≥ 1 cups/day or unknown), body mass index (BMI; <18.5 , 18.5–24.9, or ≥ 25.0 kg/m² or unknown), educational level (school up to age 15, 15–18, or ≥ 19 years or unknown), marital status (single, married, divorced/widowed, or unknown), and a self-reported medical history of diabetes mellitus, gallbladder diseases, and blood transfusion were included in the multivariate models. Tests for linear trends were conducted to assess associations between the original continuous variables of the number of daily hours spent watching TV and the risk of liver cancer mortality. We also conducted additional analyses stratified by sex. An alpha level of 0.05 was considered to

be statistically significant. All statistical analyses were performed using JMP Pro version 10.0.2 for Mac (SAS Institute Inc., Cary, NC, USA).

Results

The median follow-up period was 19.4 years. During 1,190,482 (men, 486,080; women, 704,402) person-years of follow-up, 267 (163 men and 104 women) participants died of liver cancer, 2,822 left the study area, and 13,446 died of causes other than liver cancer.

The mean age $\pm$ standard deviation of participants at baseline was 56.8 ± 10.0 years (men, 56.4 ± 10.0 years; women, 57.0 ± 10.0 years).

Baseline characteristics of the study participants according to walking and TV viewing time are shown in Table 1. Compared with the participants in the shortest walking category (≤ 0.5 hours/day), participants in the longest walking category (> 0.5 hour/day) tended to be older; were more likely to be female, have a normal BMI, and be unmarried; and were less likely to be a smoker, consume coffee, be educated, and have a history of diabetes mellitus, gallbladder disease, and blood transfusion. Participants

1 who spent a longer time watching TV tended to be older; were more likely to be female,
2 a smoker, and single; were more likely to have a history of diabetes mellitus,
3 gallbladder disease, and blood transfusion; and were less likely to have a healthy BMI.
4 (Table 1 here)

5 The HRs for liver cancer mortality associated with walking time are shown in
6 Table 2. Compared with participants in the shorter walking category (≤ 0.5 hours/day),
7 participants in the longer walking category (> 0.5 hours/day) were 23% less likely to die
8 of liver cancer after adjusting for variables such as age, sex, smoking status, alcohol
9 drinking, coffee intake, BMI, education, marital status, and history of diabetes mellitus,
10 gallbladder diseases, and blood transfusion (HR, 0.77; 95% CI, 0.59–0.99). (Table 2
11 here)

12 The HRs for liver cancer mortality associated with TV viewing time are
13 shown in Table 3. Although the HRs were > 1.0 , statistically significant associations
14 between the number of daily hours spent watching TV and a risk of liver cancer were
15 not found. (Table 3 here)

16 Multivariate HRs for liver cancer mortality according to walking and TV

watching times are shown in Table 4. Compared with participants in the shorter walking category (≤ 0.5 hours/day) and longest TV watching category (≥ 4 hours/day), those in the longer walking category (> 0.5 hours/day) and middle and shortest TV watching categories (2 to < 4 and < 2 hours/day) had a significantly reduced risk of liver cancer mortality (HR, 0.58; 95% CI, 0.39–0.89 and HR, 0.58; 95% CI, 0.35–0.98, respectively) after adjusting for potential confounders. (Table 4 here)

Discussion

In this large cohort study, we found that walking more than 30 minutes per day reduced the risk of liver cancer mortality. This association was greater among participants who watched TV for < 4 hours per day.

The present findings are consistent with those of two previous reports that suggested that daily vigorous physical activity [9,10] and leisure physical activity [11] are associated with a reduced risk of liver cancer. Potential mechanisms involved in the prevention of liver cancer by low-intensity physical activities (e.g., walking) are not

clear. Several studies have suggested that physical activity helps to treat and/or prevent obesity [18] and increase insulin sensitivity [19], which could decrease hyperinsulinemia and in turn regulate carcinogenesis [20] as well as reduce liver fat stores [21]. Additionally, physical activities enhance immune function by increasing macrophages, natural killer cells, and neutrophils; regulating cytokines [22]; and altering prostaglandin synthesis [23]. A further possibility is that physical activities increase oxidative liver metabolism [24], which may slow or stop the loss of antioxidants [25]. All of these factors may reduce the influence of chronic inflammation on the liver.

Watching TV is a major form of sedentary behavior in many industrialized countries [26-28]. In this study, a longer time spent watching TV was associated with an increased risk of liver cancer mortality, although these results did not reach statistical significance. Several previous studies have reported that prolonged sedentary behavior is a risk factor for lung [16], endometrial [29], ovarian [30], and colon [31] cancer. Prolonged sedentary behavior has been shown to increase levels of inflammatory factors [32,33] and cause metabolic dysfunction [34]. For this reason, participants in the longer

walking category and middle and shortest TV watching categories might have had a lower risk of liver cancer mortality than those in the shorter walking and longest TV watching categories.

A previous study reported that physical activity was much more strongly associated with the incidence of hepatocellular carcinoma (HCC) than with other types of liver cancer [10]. In this study, 219 of 267 participants (82%) died of HCC. The HRs for HCC mortality associated with walking time were almost identical to those of all-cause liver cancer mortality, although this did not reach statistical significance because of the reduced number of deaths (HR, 0.74; 95% CI, 0.57–1.00). Accordingly, because the longer walking time reduced the risk of both HCC and other types of liver cancer mortality, we considered the presence of an association between daily walking time and primary all-cause liver cancer.

We excluded participants with a medical history of liver disease because they exhibited significantly higher rates of death of liver cancer and spent less time walking and more time watching TV per day. In the analysis that included participants with a medical history of liver disease, the associations among daily walking time, TV viewing

time, and liver cancer mortality were stronger than in the analysis that excluded these participants (data not shown). Thus, we attempted to reduce the potential for reverse causation as much as possible, and we believe that reverse causation did not occur.

Strengths of this study include its prospective cohort design, long follow-up period, and inclusion of participants from all over Japan. Additionally, information on potential confounders for liver cancer was collected at baseline and adjusted for in the analysis as much as possible.

This study has several limitations that warrant discussion. First, we had no information on HBV or HCV infection, which is a major risk factor for liver cancer [35]. Such viral infection may be associated with the gradual development of liver cancer over 20 to 30 years [36] and might have been related to the decreased walking times and increased TV viewing times at baseline in this study and thus to the increased liver cancer mortality. However, we excluded participants who died within the first 5 years of follow-up to reduce the influence of latent cancer that already existed at baseline but was infrequently detected because the cumulative survival rate within 5 years for all-cause liver cancer was poor (19.9%) [8] and adjusted for variables such as a history

of diabetes mellitus, gallbladder diseases, and blood transfusion. Accordingly, our results should represent true associations. Second, we could not completely exclude the effects of residual confounding factors. We collected data only at baseline, and that information was not updated; therefore, subsequent lifestyle changes could not be taken into account. If lifestyle changes occurred, misclassification might have been included in the results. However, such error would have occurred at random, which might have diminished the estimated HR toward null.

In conclusion, this large-scale cohort study demonstrated that a longer walking time reduced the risk of liver cancer mortality among Japanese individuals aged 40 to 79 years. This association was greater among participants who watched TV for <4 hours per day. Our findings suggest that prolonging the walking time and reducing the TV viewing time may be of benefit in the prevention of liver cancer.

Funding

This work was supported by Grants-in-Aid for Scientific Research from the Ministry of Education, Culture, Sports, Science and Technology of Japan (MEXT) (Monbusho);

Grants-in-Aid for Scientific Research on Priority Areas of Cancer; and Grants-in-Aid for Scientific Research on Priority Areas of Cancer Epidemiology from MEXT (MonbuKagaku-sho) (Nos. 61010076, 62010074, 63010074, 1010068, 2151065, 3151064, 4151063, 5151069, 6279102, 11181101, 17015022, 18014011, 20014026, and 20390156).

Acknowledgments

We wish to express our sincere thanks to Drs. Kunio Aoki and Yoshiyuki Ohno, Professors Emeritus of the Nagoya University School of Medicine and former chairpersons of the JACC Study. For their encouragement and support during this study, we are also greatly indebted to Dr. Haruo Sugano, former Director of the Cancer Institute, Tokyo, who contributed greatly to the initiation of the JACC Study; to Dr. Tomoyuki Kitagawa, Director Emeritus of the Cancer Institute of the Japanese Foundation for Cancer Research and former project leader of the Grant-in-Aid for Scientific Research on Priority Area ‘Cancer’; and to Dr. Kazao Tajima, Aichi Cancer Center, who was the previous project leader of the Grant-in-Aid for Scientific Research

on Priority Area of Cancer Epidemiology.

Conflict of interest

The authors have no conflict of interest to disclose.

Appendix: Members of Japan Collaborative Cohort Study Group

The present members of the JACC Study Group who coauthored this paper are: Dr. Akiko Tamakoshi (present chairperson of the study group), Hokkaido University Graduate School of Medicine; Drs. Mitsuru Mori and Fumio Sakauchi, Sapporo Medical University School of Medicine; Dr. Yutaka Motohashi, Akita University School of Medicine; Dr. Ichiro Tsuji, Tohoku University Graduate School of Medicine; Dr. Yosikazu Nakamura, Jichi Medical School; Dr. Hiroyasu Iso, Osaka University School of Medicine; Dr. Haruo Mikami, Chiba Cancer Center; Dr. Michiko Kurosawa, Juntendo University School of Medicine; Dr. Yoshiharu Hoshiyama, Yokohama Soei University; Dr. Naohito Tanabe, University of Niigata Prefecture; Dr. Koji Tamakoshi, Nagoya University Graduate School of Health Science; Dr. Kenji Wakai, Nagoya

1 University Graduate School of Medicine; Dr. Shinkan Tokudome, National Institute of
2 Health and Nutrition; Dr. Koji Suzuki, Fujita Health University School of Health
3 Sciences; Dr. Shuji Hashimoto, Fujita Health University School of Medicine; Dr. Shogo
4 Kikuchi, Aichi Medical University School of Medicine; Dr. Yasuhiko Wada, Faculty of
5 Nutrition, University of Kochi; Dr. Takashi Kawamura, Kyoto University Center for
6 Student Health; Dr. Yoshiyuki Watanabe, Kyoto Prefectural University of Medicine
7 Graduate School of Medical Science; Dr. Kotaro Ozasa, Radiation Effects Research
8 Foundation; Dr. Tsuneharu Miki, Kyoto Prefectural University of Medicine Graduate
9 School of Medical Science; Dr. Chigusa Date, School of Human Science and
10 Environment, University of Hyogo; Dr. Kiyomi Sakata, Iwate Medical University; Dr.
11 Yoichi Kurozawa, Tottori University Faculty of Medicine; Drs. Takesumi Yoshimura
12 and Yoshihisa Fujino, University of Occupational and Environmental Health; Dr. Akira
13 Shibata, Kurume University; Dr. Naoyuki Okamoto, Kanagawa Cancer Center; and Dr.
14 Hideo Shio, Moriyama Municipal Hospital.

15

References

1. World Health Organization report, 2013. Cancer. <http://www.who.int/mediacentre/factsheets/fs297/en/>. Accessed Aug. 2. 2013.
2. Blonski W, Kotlyar DS, Forde KA (2010) Non-viral causes of hepatocellular carcinoma. *World J Gastroenterol* 16 (29):3603-3615
3. Gao J, Xie L, Yang WS, Zhang W, Gao S, Wang J, Xiang YB (2012) Risk factors of hepatocellular carcinoma--current status and perspectives. *Asian Pac J Cancer Prev* 13 (3):743-752
4. Sanyal AJ, Yoon SK, Lencioni R (2010) The etiology of hepatocellular carcinoma and consequences for treatment. *Oncologist* 15 Suppl 4:14-22. doi:10.1634/theoncologist.2010-S4-14
5. Venook AP, Papandreou C, Furuse J, de Guevara LL (2010) The incidence and epidemiology of hepatocellular carcinoma: a global and regional perspective. *Oncologist* 15 Suppl 4:5-13.
6. Kurozawa Y, Ogimoto I, Shibata A, Nose T, Yoshimura T, Suzuki H, Sakata R, Fujita Y, Ichikawa S, Iwai N, Tamakoshi A (2005) Coffee and risk of death from hepatocellular carcinoma in a large cohort study in Japan. *Br J Cancer* 93 (5):607-610.
7. Wakai K, Kurozawa Y, Shibata A, Fujita Y, Kotani K, Ogimoto I, Naito M, Nishio K, Suzuki H, Yoshimura T, Tamakoshi A (2007) Liver cancer risk, coffee, and hepatitis C virus infection: a nested case-control study in Japan. *Br J Cancer* 97 (3):426-428.
8. Ikai I, Arii S, Okazaki M, Okita K, Omata M, Kojiro M, Takayasu K, Nakanuma Y, Makuuchi M, Matsuyama Y, Monden M, Kudo M (2007) Report of the 17th Nationwide Follow-up Survey of Primary Liver Cancer in Japan. *Hepatol Res* 37 (9):676-691.
9. Inoue M, Yamamoto S, Kurahashi N, Iwasaki M, Sasazuki S, Tsugane S (2008) Daily total physical activity level and total cancer risk in men and women: results from a large-scale population-based cohort study in Japan. *Am J Epidemiol* 168 (4):391-403.
10. Behrens G, Matthews CE, Moore SC, Freedman ND, McGlynn KA, Everhart JE, Hollenbeck AR, Leitzmann MF (2013) The association between

frequency of vigorous physical activity and hepatobiliary cancers in the
 NIH-AARP Diet and Health Study. *Eur J Epidemiol* 28 (1):55-66.

11. Yun YH, Lim MK, Won YJ, Park SM, Chang YJ, Oh SW, Shin SA (2008)
 Dietary preference, physical activity, and cancer risk in men: national health
 insurance corporation study. *BMC Cancer* 8:366.

12. Dunstan DW, Howard B, Healy GN, Owen N (2012) Too much sitting--a
 health hazard. *Diabetes Res Clin Pract* 97 (3):368-376.

13. Lynch BM, White SL, Owen N, Healy GN, Chadban SJ, Atkins RC,
 Dunstan DW (2010) Television viewing time and risk of chronic kidney
 disease in adults: the AusDiab Study. *Ann Behav Med* 40 (3):265-274.

14. Tamakoshi A, Ozasa K, Fujino Y, Suzuki K, Sakata K, Mori M, Kikuchi S,
 Iso H, Sakauchi F, Motohashi Y, Tsuji I, Nakamura Y, Mikami H, Kurosawa
 M, Hoshiyama Y, Tanabe N, Tamakoshi K, Wakai K, Tokudome S, Hashimoto
 S, Wada Y, Kawamura T, Watanabe Y, Miki T, Date C, Kurozawa Y,
 Yoshimura T, Shibata A, Okamoto N, Shio H (2013) Cohort profile of the
 Japan Collaborative Cohort Study at final follow-up. *J Epidemiol* 23
 (3):227-232

15. Office for National Statistics. The Time Use Survey, 2011. Available at:
<http://www.stat.go.jp/data/shakai/2011/index.htm> Accessed February 7, 2014.

16. Ukawa S, Tamakoshi A, Wakai K, Noda H, Ando M, Iso H (2013)
 Prospective cohort study on television viewing time and incidence of lung
 cancer: findings from the Japan Collaborative Cohort Study. *Cancer Causes
 Control*.

17. Dunstan DW, Barr EL, Healy GN, Salmon J, Shaw JE, Balkau B,
 Magliano DJ, Cameron AJ, Zimmet PZ, Owen N (2010) Television viewing
 time and mortality: the Australian Diabetes, Obesity and Lifestyle Study
 (AusDiab). *Circulation* 121 (3):384-391.

18. Wareham NJ, van Sluijs EM, Ekelund U (2005) Physical activity and
 obesity prevention: a review of the current evidence. *Proc Nutr Soc* 64
 (2):229-247

19. Regensteiner JG, Mayer EJ, Shetterly SM, Eckel RH, Haskell WL,
 Marshall JA, Baxter J, Hamman RF (1991) Relationship between habitual
 physical activity and insulin levels among nondiabetic men and women. *San*

- Luis Valley Diabetes Study. *Diabetes Care* 14 (11):1066-1074
20. Xue F, Michels KB (2007) Diabetes, metabolic syndrome, and breast cancer: a review of the current evidence. *Am J Clin Nutr* 86 (3):s823-835
21. Johnson NA, Sachinwalla T, Walton DW, Smith K, Armstrong A, Thompson MW, George J (2009) Aerobic exercise training reduces hepatic and visceral lipids in obese individuals without weight loss. *Hepatology* 50 (4):1105-1112.
22. Shephard RJ, Shek PN (1995) Cancer, immune function, and physical activity. *Can J Appl Physiol* 20 (1):1-25
23. Quadrilatero J, Hoffman-Goetz L (2003) Physical activity and colon cancer. A systematic review of potential mechanisms. *J Sports Med Phys Fitness* 43 (2):121-138
24. Mauriz JL, Tabernero B, Garcia-Lopez J, Jorquera F, Villa JG, Gonzalez-Gallego J (2000) Physical exercise and improvement of liver oxidative metabolism in the elderly. *Eur J Appl Physiol* 81 (1-2):62-66.
25. Dreher D, Junod AF (1996) Role of oxygen free radicals in cancer development. *Eur J Cancer* 32A (1):30-38
26. Health and Welfare Statistics Association. Health State of the Nation, Annual Report. Ministry of Health and Welfare: Japan. 2012.
27. United States Department of Labor. American Time Use Survey: 2007 results. Available at: <http://www.bls.gov/tus/>. Accessed August 1, 2013.
28. Office for National Statistics. The Time Use Survey, 2005. Available at: http://www.statistics.gov.uk/articles/nojournal/time_use_2005.pdf. Accessed August 1, 2013.
29. Friberg E, Mantzoros CS, Wolk A (2006) Physical activity and risk of endometrial cancer: a population-based prospective cohort study. *Cancer Epidemiol Biomarkers Prev* 15 (11):2136-2140.
30. Patel AV, Rodriguez C, Pavluck AL, Thun MJ, Calle EE (2006) Recreational physical activity and sedentary behavior in relation to ovarian cancer risk in a large cohort of US women. *Am J Epidemiol* 163 (8):709-716.
31. Howard RA, Freedman DM, Park Y, Hollenbeck A, Schatzkin A, Leitzmann MF (2008) Physical activity, sedentary behavior, and the risk of colon and rectal cancer in the NIH-AARP Diet and Health Study. *Cancer*

Causes Control 19 (9):939-953.

32. van Kruijsdijk RC, van der Wall E, Visseren FL (2009) Obesity and cancer: the role of dysfunctional adipose tissue. *Cancer Epidemiol Biomarkers Prev* 18 (10):2569-2578.

33. Zhan P, Wang J, Lv XJ, Wang Q, Qiu LX, Lin XQ, Yu LK, Song Y (2009) Prognostic value of vascular endothelial growth factor expression in patients with lung cancer: a systematic review with meta-analysis. *J Thorac Oncol* 4 (9):1094-1103.

34. Helmerhorst HJ, Wijndaele K, Brage S, Wareham NJ, Ekelund U (2009) Objectively measured sedentary time may predict insulin resistance independent of moderate- and vigorous-intensity physical activity. *Diabetes* 58 (8):1776-1779.

35. Nordenstedt H, White DL, El-Serag HB (2010) The changing pattern of epidemiology in hepatocellular carcinoma. *Dig Liver Dis* 42 Suppl 3:S206-214.

36. Tong MJ, el-Farra NS, Reikes AR, Co RL (1995) Clinical outcomes after transfusion-associated hepatitis C. *N Engl J Med* 332 (22):1463-1466.

Table 1. Baseline characteristics of study participants according to walking time and television viewing time.

Characteristic	Code	Walking time (hours a day)		TV viewing time (hours a day)		
		≤0.5 (n=19,850)	>0.5 (n=49,902)	<2 (n=13,021)	2 to <4 (n=40,243)	≥4 (n=16,488)
Age		56.2±10.1	57.0±9.9	54.7±10.1	56.2±9.8	60.0±9.7
Sex	Male	43.2	40.2	40.4	43.8	35.1
Smoking status	Current smoker	24.7	23.6	21.0	25.1	23.4
	Former smoker	11.3	10.1	9.8	10.9	9.7
	Non smoker	56.2	57.6	61.8	56.0	56.6
Alcohol consumption	Current drinker					
	0.1-22.9 g ethanol/day	6.7	7.2	6.9	7.0	7.2
	23.0-45.9 g ethanol/day	15.2	14.4	15.3	15.2	12.8
	≥46.0 g ethanol/day	14.8	14.6	15.2	15.9	11.1
	unknown	6.7	6.6	6.4	6.8	7.0
	Former drinker	2.8	2.6	2.1	2.5	3.6
	Non drinker	48.0	48.6	49.3	47.1	51.1
Coffee consumption	1 cup a day or more	57.5	52.2	54.3	53.4	54.0
Body mass index (kg/m ²)	<18.5	5.3	5.4	5.8	5.2	5.7
	18.5-24.9	68.6	71.1	72.1	71.2	67.1
	≥25.0	21.7	18.7	17.3	19.3	21.9
College education		13.1	10.9	15.3	12.2	15.0
Married		81.5	80.6	84.3	82.2	74.9
Medical history						
Diabetes mellitus	Yes	4.9	3.6	3.5	3.7	4.9
Gallbladder diseases	Yes	4.2	3.7	3.4	3.5	4.8
Blood transfusion	Yes	8.4	7.7	7.3	7.5	9.3

Values are expressed as mean ± standard deviation or percentage.

Table 2. Hazard ratio (HR) of mortality from liver cancer according to walking time.

	Walking time (hours a day)	
	≤0.5	>0.5
Over all		
Person-years	334,244	856,238
No of cases	85	182
Age and sex adjusted HR (95%CI)	ref	0.79(0.61-1.03)
Multivariate HR (95%CI) ^a	ref	0.77(0.59-0.99)*
Male		
Person-years	144,073	342,007
No of cases	51	112
Age-adjusted HR (95%CI)	ref	0.84(0.61-1.19)
Multivariate HR (95%CI) ^b	ref	0.81(0.58-1.14)
Female		
Person-years	190,171	514,231
No of cases	34	70
Age-adjusted HR (95%CI)	ref	0.71(0.47-1.09)
Multivariate HR (95%CI) ^b	ref	0.70(0.47-1.07)

HR, hazard ratio. CI, confidence interval. *P<0.05.

^aAdjusted for age, sex, study area, smoking status (never, former, current smoker, or unknown), alcohol consumption (never, former, current alcohol drinker of 0.1–22.9, 23.0–45.9, 46 g ethanol/day or unknown), daily consumption of coffee (0, <1, or ≥1 cups/day or unknown), body mass index (BMI; <18.5, 18.5–24.9, or ≥25.0 kg/m² or unknown), educational level (school up to age 15, 15–18, or ≥19 years or unknown), marital status (single, married, divorced/widowed, or unknown), and a history of diabetes mellitus, gallbladder diseases, and blood transfusion

^bAdjusted for age, study area, smoking status (never, former, current smoker, or unknown), alcohol consumption (never, former, current alcohol drinker of 0.1–22.9, 23.0–45.9, 46 g ethanol/day or unknown), daily consumption of coffee (0, <1, or ≥1 cups/day or unknown), body mass index (BMI; <18.5, 18.5–24.9, or ≥25.0 kg/m² or unknown), educational level (school up to age 15, 15–18, or ≥19 years or unknown), marital status (single, married, divorced/widowed, or unknown), and a history of diabetes mellitus, gallbladder diseases, and blood transfusion

Table 3. Hazard ratios of liver cancer mortality according to television viewing time

	TV viewing time (hours a day)			
	<2	2 to <4	≥4	P for trend ^c
Over all				
Person-years	228,521	694,467	267,497	
No of cases	44	146	77	
Age and sex adjusted HR (95%CI)	ref	0.99(0.71-1.40)	1.27(0.88-1.85)	0.12
Multivariate HR (95%CI) ^a	ref	0.98(0.70-1.38)	1.20(0.82-1.77)	0.27
Male				
Person-years	914,546	302,276	92,349	
No of cases	28	91	44	
Age-adjusted HR (95%CI)	ref	0.93(0.62-1.45)	1.30(0.81-2.12)	0.42
Multivariate HR (95%CI) ^b	ref	0.92(0.61-1.44)	1.23(0.76-2.02)	0.64
Female				
Person-years	137,065	392,191	175,148	
No of cases	16	55	33	
Age-adjusted HR (95%CI)	ref	1.08(0.63-1.95)	1.23(0.68-2.31)	0.18
Multivariate HR (95%CI) ^b	ref	1.06(0.62-1.93)	1.13(0.62-2.13)	0.34

HR, hazard ratio. CI, confidence interval. Tests for linear trends were conducted to assess associations between the original continuous variables of daily hours spent watching TV and risk of liver cancer mortality.

^aAdjusted for age, sex, study area, smoking status (never, former, current smoker, or unknown), alcohol consumption (never, former, current alcohol drinker of 0.1–22.9, 23.0–45.9, 46 g ethanol/day or unknown), daily consumption of coffee (0, <1, or ≥1 cups/day or unknown), body mass index (BMI; <18.5, 18.5–24.9, or ≥25.0 kg/m² or unknown), educational level (school up to age 15, 15–18, or ≥19 years or unknown), marital status (single, married, divorced/widowed, or unknown), and a history of diabetes mellitus, gallbladder diseases, and blood transfusion

^bAdjusted for age, study area, smoking status (never, former, current smoker, or unknown), alcohol consumption (never, former, current alcohol drinker of 0.1–22.9, 23.0–45.9, 46 g ethanol/day or unknown), daily consumption of coffee (0, <1, or ≥1 cups/day or unknown), body mass index (BMI; <18.5, 18.5–24.9, or ≥25.0 kg/m² or unknown), educational level (school up to age 15, 15–18, or ≥19 years or unknown), marital status (single, married, divorced/widowed, or unknown), and a history of diabetes mellitus, gallbladder diseases, and blood transfusion

^cTests for linear trends were conducted to assess associations between the original continuous variables of daily hours spent watching TV and risk of liver cancer mortality.

Table 4. Hazard ratios of mortality from liver cancer according to walking time and television viewing time

	Walking time (hours a day)	
	≤0.5	>0.5
Time spent watching TV (hours a day)		
<2		
Person-years	64,068	164,453
No of cases	13	31
Age- and sex-adjusted HR (95%CI)	0.66(0.33-1.25)	0.57(0.35-0.95)*
Multivariate HR (95%CI) ^a	0.71(0.36-1.34)	0.58(0.35-0.98)*
2-4		
Person-years	188,896	505,569
No of cases	42	104
Age- and sex-adjusted HR (95%CI)	0.65(0.41-1.05)	0.57(0.38-0.87)*
Multivariate HR (95%CI) ^a	0.68(0.42-1.11)	0.58(0.39-0.89)*
>4		
Person-years	81,260	186,238
No of cases	30	47
Age- and sex-adjusted HR (95%CI)	ref	0.65(0.41-1.04)
Multivariate HR (95%CI) ^a	ref	0.64(0.40-1.02)

HR, hazard ratio. CI, confidential interval. *P < 0.05.

^aAdjusted for age, sex, study area, smoking status (never, former, current smoker, or unknown), alcohol consumption (never, former, current alcohol drinker of 0.1–22.9, 23.0–45.9, 46 g ethanol/day or unknown), daily consumption of coffee (0, <1, or ≥1 cups/day or unknown), body mass index (BMI; <18.5, 18.5–24.9, or ≥25.0 kg/m² or unknown), educational level (school up to age 15, 15–18, or ≥19 years or unknown), marital status (single, married, divorced/widowed, or unknown), and a history of diabetes mellitus, gallbladder diseases, and blood transfusion